
Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1. 515 + 1 119 =

2. 512 + 113 =

3. 512 − 3 713 =

4. 545 − 534 =

5. 518 + 3 115 =

6. 535 × 113 =

7. 558 × 114 =

8. 579 − 51019 =

9. 113 × 523 =

10. 527 ÷ 212 =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 515 + 1 119 = 26
5 + 20

19 = 494
95 + 100

95 = 594
95 = 62495

2. 512 + 113 = 11
2 + 4

3 = 33
6 + 8

6 = 41
6 = 656

3. 512 − 3 713 = 11
2 − 46

13 = 143
26 − 92

26 = 51
26 = 12526

4. 545 − 534 = 29
5 − 23

4 = 116
20 − 115

20 = 1
20

5. 518 + 3 115 = 41
8 + 46

15 = 615
120 +

368
120 = 983

120 = 8 23120

6. 535 × 113 = 28
5 × 4

3 = 112
15 = 7 715

7. 558 × 114 = 45
8 × 5

4 = 225
32 = 7 132

8. 579 − 51019 = 52
9 − 105

19 = 988
171 −

945
171 = 43

171

9. 113 × 523 = 4
3 ×

17
3 = 68

9 = 759

10. 527 ÷ 212 = 37
7 ÷ 5

2 = 37
7 × 2

5 = 74
35 = 2 435
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